
OCN

Barn road, Dunleer, Co.Louth, Ireland. Tel: +353(0)41 6872000
HEATING AND VENTILATION IRELAND

R.o.H.S. and POP compliant
All materials must comply with the

requirements of European Directive 
2015/863/EU (RoHS) and Regulation 

No. 2019/1021 (POP) on the restriction 
of the use of certain hazardous substances

NO.  PART NO. DESCRIPTION QTY

1 100000979 DRAWER FRONT 1

2 100000984 LOG FUELBED ASSY 3STEP 1

3 100000998 BLE RECEIVER RGB (HEAT) LIN 1

4 100001135 HEAT RELAY LIN PCB 1

5 300002333 TRAY 1

6 300002336 SLIDER BKT 2

7 300002342 SOY BKT 1

8 300002357 BASE_PAN 1

9 300002358 INNER BKT LH 1

10 300002359 INNER BKT RH 1

11 300002360 INNER REAR 1

12 300002378 RECEIVER SUPPORT 1

13 300002440 CAS500 RGB MODULE 1

14 300003053 HEAT BAFFLE 1

15 01/11920/0 HEYCO BUSH SR6P1T 1

16 03/23624/0 ECO HANDSET 1

17 1/19152/0 GROMMET DIA 20mm 1

18 1/22939/0 ADJUSTABLE FOOT 4

19 1/68503/0 TOP PLATE 1

20 1/68537/0 INNER_BACK_PANEL 1

21 1/68538/0 BACK_PANEL 1

22 1/68602/0 WINDOW_PANEL 2

23 1/68636/0 TOP COVER 1

24 1/68637/0 FOOT BRACKET 5

25 1/68638/0 WALL ALIGNMENT BRKT TOP 1

26 1/68639/0 WALL ALIGNMENT SIDE 4

27 1/68640/0 WALL ALIGNMENT FRONT 2

28 1/68645/0 BAFFLE SIDE 4

29 1/68646/0 HEAT BAFFLE 1

30 1/68674/0 MIST DUCT 2

31 1/68675/0 SHORT HEAT BAFFLE 1

32 1/68708/0 PLUG + CORD PLATE 1

33 1/68724/0 WALL BRACE 1

34 1/68766/0 BLOWER PLATE 1

35 1/68767/0 AIR FLOW BAFFLE 4

36 1/68814/0 AIR FLOW BAFFLE SMALL 2

37 1/69830/0 PCB SUPPORT PILLAR 4

38 1/74772/0 NTC HOLDER 1

39 2/61690/0 LEFT SIDE S/W ASSY 1

40 2/61691/0 RIGHT SIDE SW 1

41 3/20461/0 FAN SPEED RESISTOR 3

42 3/21056/0 ON OFF SWITCH 1

43 3/21548/0 FERGAS BLOWER 1

44 3/22787/0 HEAVY DUTY SLIDER 2

45 3/24024/0 5A PSU 1

46 4/18559/0 BLOWER FAN & ELEMENT ASSY 1

47 5/14098/0 M6x70 HEX HEAD SCREW 2

48 5/23013/0 M6 NUT 2

49 5/29021/0 M8 NUT 4

50 5/29064/0 M8 Rivnut 4

51 5/29066/0 M4 NUT INSERT 8

52 X-0/68361/0 SIDE GLASS 2

53 X-01/68668/0 GLASS 1

SCALE 0.200

 4 

 2 

 5 

 6 

 7 
 8 

 9 

 10 

 11 

 12 

 13 

 14 

 15 

 16 

 17 

 18 

 19 

 20 

 21 

 1 

 22 

 23 

 24 

 25 

 26 

 27 

 28  29  30  31 

 32 

 33 

 34 

 35 

 36 

 37  38 

 39 

 40 

 41 

 42 

 43 

 44  3  45 

 46 

 47 

 48 

 49  50 

 51 

 52 

 53 

NO. OFF :

Sht  
of  

A1DO NOT SCALE

IF IN DOUBT ASK ANGLE PROJECTION

NOTESISSUE MODIFICATIONS

THIRD

APPD DATE
C

PROJECT

TITLE

DRG NO

FINISH

DRAWN BY DATE

DATEAPP'D BY

SCALE GEN TOL

DIM IN

HOLE TOL

ANGLES

MATERIAL

+/-0.05

+/-0.5mm

GLEN DIMPLEX 

0   +/-0,4
0,0 +/-0,2
0,00+/-0,1

THIS DRAWING IS SUPPLIED IN CONFIDENCE AND THE COPYRIGHT
THEREOF IS THE PROPERTY OF GLEN DIMPLEX : IT MUST NOT BE
USED BY A THIRD PARTY WITHOUT PRIOR PERMISSION.

RESEARCH &
DEVELOPMENT  2022

3-STEP

IMcA 17.02.22 0.200 EXPLODED VIEW

SEE INDIVIDUAL PARTS 400001279
(7/20676/0)

2
SEE INDIVIDUAL PARTS 2

A   SAMPLE RELEASE IMcA 17.02.22

1  PRODUCTION ISSUE IMcA 27.12.22


	Sheet 2
	Views
	new_view_7



